November 18, 2012

If ZLMN is supplementary to ZNMP
then




If L1 = £7 then




If /4= /6 then




If £3= £7 then




November 18, 2012

If E is the midpoint of BC then
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If /4= /8 then




November 18, 2012

If ZQRU is vertical to ZSRT then :
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November 18, 2012

If £3 is supplementary to £6 then




November 18, 2012

If Z/ABD is 90°, then
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November 18, 2012

If I-R bisects al then .
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November 18, 2012

If E is the midpoint of BD then
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November 18, 2012

If ZD is a right angle then
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November 18, 2012

If ZABD = £ZCBD then
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November 18, 2012

If /4 = /6 then
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November 18, 2012

If /4 = /6 then
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If AB||CD then___.
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November 18, 2012

If DB bisects ZABD then
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November 18, 2012

If DB bisects A—C then
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November 18, 2012

If LN bisects #MNO then
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If ZBAC = £ZDAC then
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If TU||WV then
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November 18, 2012

If £4 is supplementary

to £5 then : A
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If AB||CD then




If /P = /£S then
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November 18, 2012

If LZAEB is vertical to ZDEC then .
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